1. Which character below is not allowed in an identifier?

$, _, 0,  ^.
Answer: ^
2. Consider he following statement:

System.out println(“ 1 big bad wolf\t8 the 3 little pigs\n4 dinner\r2night”);
Tis statement will output   2 lines of text.

3. The word println represents a (n)  Method. 
4. A Java variable is the name of a   Data value stored in memory that an change both its value and its type during the program’s execution.

5. A cast is require in which of the following situations?
Answer:  Storing a double in an int.

6. What will be the result of the following assignment statement? Assume b= 5 and
 c = 10.   int a = b*(-c + 2) /2;           -20              5*(-8)/2 = -20
7. What is output with the statement System.out.println(“”+x+y); if x and y are int values where x = 10 and y = 5?
105
8. Which library package would you import to use NumberFormat and DecimalFormat?   
java.text
9. -10.
import cs1.Keyboard;

public class Int_to_double

{


public static void main(String[ ] args)


{



int x, y, z;



double average;



System.out.println("Enter an integer value ");



x = Keyboard.readInt( );



System.out.println("Enter an integer value ");



y = Keyboard.readInt( );



System.out.println("Enter an integer value ");



z = Keyboard.readInt( );



average = ( x + y + z) / 3;



System.out.println("The result of my calculation is " + average);


}

}

       9.  Question 9-10 comutes
Answer: The average of x, y and z as a double, but the result may not be accurate
10. What is output if x = 0, y = 1 and z = 1?
Answer:  0.0 
11. Of the following if statements [there are several of them], which one correctly executes three instructions if the condition is true?

Answer:



if (x < 0)




{




    a = b*2;




    y = x; 



    z = a – y;




}

12. Which of the sets of statements below will add 1 to x if x is positive and subtract 1 from x if x is negative but leave x alone if x is 0? 

Answer:


If ( x < 0)

If x =0 then x decreases ( x++  = x+1)


{


     x++;


}


     else if ( x < 0)
else ( states include all statements  x<0, x>0, x==0 if

{



we don’t have if…)

     x--;

}

Given the nested if-else structure below, answer questions 13 – 15.

if (a > 0)



if (b < 0)




x = x + 5;



else




if (a > 5)





x = x + 4;




else 





x = x + 3;


else 



x = x + 2;

13. If x is currently 0, a = 5 and b = 5, what will x become after the above statement is executed?
 Answer:   3.

14. If x is currently 0, a =0 and b =-5, what will x become after the above statement is executed?
Answer:   2.
15. If x = 0, a = 1, b = - 1, what will x become after the above statement is executed? 

Answer: 5.

16. Assume that x and y are int variables with x = 5, y = 3, and a and d are car variables with a = ‘a’ and d = ‘A’, and examine the following conditions:


Condition 1: (x<y && x> 0)


Condition 2: ( a! = d || x! = 5)  
|| -OR

Condition 3: ( true && false)


Condition 4: (x > y || a == ‘A’|| d ! = ‘A’) 

Answer: Conditions 2, 3, and 4 are all true, Condition 1 is not.
17) If x is currently equal to 5, what will the value of x be after the switch statement executes?
switch (x)

{

     case 3:



x+=1;

     case 4:



x+=2;

     case 5:



x+=3;

x=x+3; x=5+3; x=8

[go to case 8]
     case 6



x++;

     case 7:



x+=2;

x=x+2; x=11
       answer (since there is no case 11)
     case 8:



x--;

x=8-1; x=7


[go to case 7]
     case 9:



x++;
}
Answer:  – 11
correct case statement has the break statement at the end, like this:
     case 5:



x+=3;



break;
18) If x is currently equal to 3, what will the value of x be after the switch statement executes?
Answer:  – 10

19) If x is an int where x = 1, what will x be after the following loop terminates?
while ( x < 100)

     x*= 2

Answer:  128

20. Given the following code, where x = 0, what is the resulting value of x after the for-loop terminates?




for(int i = 0; i < 5; i ++)




{





x += i;

}

Answer: 10.

21. The do loop differs from the while loop in that:

 Answer: The do loop will always execute the body of the loop at least once

22. How many times will the following loop iterate?


int x = 10;


while ( x > 0)


{



System.out.println(x);



x--;


}

      
 Answer: 10
23. Given that s is a String, what does the following loop do?


for(int j = 0; j < 100; j++)

{


for(int k = 100; k > 0; k--)


{



x++;


}


}

Answer: 10,000
24. Assume that q, x, y, and z are int variables with x = 1, y = 10, z = -3. Which of the following is true after the following statement is executed?   q = (x++* y--) + ++z;

Answer: 8.

